Signature of Invigilators

ECONOMICS

Name of the Areas/Section (if any).......cccueeeen
Time Allowed : 2-1/2 hours]

PAPER-III Roll No. [ ][ J[ 1[ ][]

OCT-11/10

(In figures as in Admit Card)

ROl W0 s inmsmimanminsin

{mwmﬂsj

[Maximum Marks : 200

Instructions for the Candidates

1. Write your Roll Number in the space provided on the
top of this page.

2.  Write name of your Elective/Section if any.

3. Answertoshortanswer/essay type questions are tobe
written in the space provided below each question or
after the questionsin test booklet itself. No additional
gheets are to be used.

4. Read instructions given inside carefully.

5. Last pageis attached at the end of the test booklet for
roughwork.

6. Ifyouwrite your name or put any special markon any
part of the test booklet which may disclose in any way
your identity, vou will render yourself liable to
disqualification.

7. Use of caleulator or any other Electronic Devices ia
prohibited.

B. Thereis no negative marking.

8.  Youshouldreturn the test booklet to theinvigilator at
the end of the examination and should not carry any
paper outside the examination hall.

10. In case of any discrepancy in_Gujarati and
English version of Questions the Engiish version
should be taken as final.

ulauel=il w2 yarusi :

1. o ysset Guaeudl 2uddl aroum arudl suis e (i
A ) e,

2. il % [Bseudl Grn 0 ded auve REw 57l

3. s} Roi usta s nz 63wl -l 2uid]
opau 7 el Ao 516 sl Guadion s el Al

¥, »ip2 videll sl eyl iy,

W, wilGra el win 2uld Y s s e S,

5. siGadidla suin we L vion saidlE Adl dd amg
Ak S s su FPauell s 7l ed ol s udlau iz St ands
SCETETERICEI

5. basyde: viadl SdsAFRsa ansi-l Gudio sl Wl

€. Asl2nens Eis ugld -l

e, WAzt et 28 Sed vt Gm il asa FlasA el
2l el stz SIS e af g Wl

10, WAL WL Yr2ell 2 il sudidul

Economics-111

S8 Ro A qad dl 2w il o M
el 2046,

1

FOR OFFICE USE ONLY
MARKS OBTAINED

H e E
52 %g HEE
52|338|82 |25
1. 11
2. 12.
3. 13.
4. 14,
b. 15
6, 16.
7. 17.
8, 18.
9. 19.
10.

Total Marks obtained .......cccoooiiimmmm.

Signature of the co-ordinator ...

{Evaluation)




Economies-IIT 2



ECONOMICS LR
PAPER III Yy II

Note : This paper contains FOUR Sections. You are required to attempt ALL
of them.
W8 0wl WA AR Rl 8. dxd oEn RewdliAl WeediAl gl dudll
6.
SECTION I
(Rewa 1)
Note : Answer the following questions (Q. No. 1 and Q. No. 2) in 500 words
each. (2x20=40)
Wi ;{3 Nl et il (L. 1 A M. ) 835 Wl galel YOO usell
AL (3x20=¥0)
1. What is inflation ? Describe the policy options available to control inflation.

And state the recent steps undertaken by the Government of India to control
inflation.

soudl Med g 7 goualil g e AARRMus Rsed asdl. i
d2sdl opdsioml eladly #MY oldR piguHi ddal el s3al Uyt
agellell.

OR
(t2al)
1. Explain the concept of ‘Human Development’. And critically examine the
methodology for construction of Human Development Index.
g Rsa’ vaadl wg 2udl 2 Hidta Qs s sl ueldd 2lsics
CECUERERIS
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2. What is meant by globalization ? Critically evaluate its impact on poverty
across different nations.

ABas 2ed g 7 QR WAl alell ya-l Al 2ud Asicns Heuis

53l
OR
(2t24l)
2. Critically examine impact of fiscal and monetary policies designed to curb

the growth of ‘black money’ in the Indian Economy.

eudld seddaaui ‘sl i’ -l qlz vesdal usiddl RRE 2 i ARl
AU RAAAIHS Yeuist 53],
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gy :

SECTION II
(@Qewat Im)
Choose any one elective from electives I to V. Answer all the questions
(Q. No. 3 to Q. No. 5) of the same elective in 300 words each.
(3x15=45)
dasdla I ol v izl 25 SAsda waie 50 A d ¥ SAsdla-l slal ¥ Ua-dl
(1. 3 ot W, W) -l st £354l 300 aoel Yell avil. (3xqu=ry)

(Elective I)
(Sasdla 1)

Given the Model, Y = By + p;X + U, prove that f, estimated through Ordinary

Least Squares method is linear, unbiased and consistent.

IS Y = By + ByX + U W2, WlBid 530 3 Yead 42l ugld gLzl 2w
SAAUL 2RAS By YIM, 2iBirid 27 Yaloud 8.

What is heteroscedasticity ? Explain the consequences of heteroscedasticity.

What are the remedial measures to it ?

‘TAvy Qe ed g 7 [@Aud Qe sl w3edl. 210 4o w2 yaaddl
yaridl s yglhial 55 8 7

Explain order and rank conditions of identification. Prove that for a just
identified equation the two stage least squares and indirect least squares

estimators are identical.

itai’ Hidl SR 2 sedl Al wHAl. Wb 530 5 ‘Aissu wlosudld’

Al W2 (2 2l yedy a0l U0ty i uRia ety 990 2101818 sLsuuis
6.
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OR (»qat)

(Elective II)

(Sdsdla 11)
Define economic growth. Explain the Solow’s model of economic growth.
iBs qlgdl curvar 2l Adeld »ulBls qla 80 Hdd uxwdl.

What do you mean by cartel ? Explain the joint profit maximisation model

of oligopoly.
‘géa’ Aed g 7 vieusads SeaztadlAl uRUIRL AgiAL HenHls o Hidd wiadl.
Explain the Leontief input-output model and its limitations.
dlai-Zlad ulaA-Gedleqt Hida wa aA-l qulel uxoel.
OR
(»12al)
(Elective III)
(§asdla 111)

Discuss the operations of the Bretton Woods system from 1947 to 1971. Why
did it collapse in 1971 ?

a] 1947 =l 1971 yellui sle-qs» ueudl-dl sl Al g 1971 i w 5128
d uenedl Frsa as ?

Distinguish between fixed and flexible exchange rate systems. Highlight merits

. and demerits of both the systems.

Y0 v YEd [ARMY e vendlal 92 M 2 531 ol Meela il elsil
vl lzaledl WM.

Critically examine international debt problems of developing countries.

Asiulla 2ol sidzarndy sadl anzusl dsicws Ad dwal.
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OR
(2t2al)

(Elective IV)

(Sdsdla 1V)
State the impact of technological change and modernisation on employment
in agricultural sector in India.
el 4% &at-ll Awoudl u, 2s-idioosd yRadd 29 2ugFdsedl 23l
ofauLal.
Explain the methods of determining the minimum wages of agricultural
labour.
WAL Y™ ddel A58l sl uglall dmodl,
Analyse the role of public distribution system in reducing poverty in
India.
MHIRdMl AZlouS satdal M2, wdy [Adzel @zl ofisid Redwa s30.

OR
(vtual)

(Elective V)

(Sasdla v)
Is Indian growth process inclusive ? Suggest appropriate measures to make
the growth process more inclusive,
g eurdly qla uBa ABRd (Ssgma) & 7 qle uBuA ay Wl s-uaal
M2l Guysd woLaL»il Y3yl
Critically examine the role of Foreign Direct Investment in the diversification
of Indian Industries.
lclly Gellotiqil AR@ellszaml @zl ueaa ySlisidl eifist dstets YA dwril,
Critically examine the view that the process of liberalization and privatisation

has led to more oligopolism in the Indian Industries.

MMl Betdlszel A visllsrardl uZan 5128 sz dly GelolHl vlevsads
dotlandld waiel a8 8 B dded dsiens Jld dwrd.
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SECTION III

(Rewat 1II)
Note : Answer all the questions (Q. No. 6 to Q. No. 14) in 50 words each.
(9x10=90)
Alg ;AL €35 Uil TS YO USEIML LML, SEHLY MAAAL FaAlsl UYL,
(. § ol u. 1¥). (ex10=¢0)

6. State the Law of Equi-Marginal Utility.
Ui gfeagadl Ruy areudl.
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7. Explain the Acceleration principle.
e (udat) -t Rgid-l gl il

8. Distinguish between ‘economic growth’ and ‘economic development’.
s g’ 22 s Qs a2l dglad AxAdl.
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9. State the principles of an ‘ideal tax system’.
‘lled s2d3 waudl’ i Rgidl weudl.

10.  Explain SDR and its usefulness in managing international liquidity ?

A SLa . Al dxgdl sl 2 Aid U dddi-l HadHl d-ll GuaiBiadl
wHadl ? |

Economics-II1 18



11.  State the instruments for regulating money supply ?
AL Y98l [RUHA sl el weudl.

12. Explain the different stages of Malthusian Theory of Demographic
Transition.

eyl dxdl wRadH-l Rgidl [QRY doissiail Axedl.
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13.

14.

Explain the inter-dependence between agriculture and industry.

Aell > Gellor 42l uzauad wadoi qudl.

State basic conceptual difference between the correlation analysis and
regression analysis.

oot [@Esdus wA Mydieln RsAve a2l wa Agilas Ae-dl iyl
UL,
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SECTION 1V

(Rewa Iv)
Read the following paragraph and answer all the questions (Q. No. 15 to
Q. No. 19) given below in 30 words each. {(bx5=25)
AdAl A28 il A A sudel oal 7 UsHleAL Falel L 55 U]
ool 30 weeHl ML, (M. 1w 4l u. 1) (uxy=2y

Whatever else may have changed, ‘the post industrial society’ will continue
to incorporate expanding bursts of industrialisation. Industrialisation is more
than inventions, machines and amused technology. Among the growing
proportion of “knowledge workers’ are not just engineers, scientists and
technicians, but more importantly manangers. Bell’s “joining of science to
invention, principally through the organisation of research and development
efforts” still depends heavily and inescapably, on the practical labours of
honest “thinkers”—and above all on the work of managers who identify
problems of opportunities, define goals, select means, monshal resources,
motivate, energize, direct measure, control and reward the performance of
people.

All the management did in the past to make technology and abundance
possible in the good producing industries and all it is now doing to help
convert scientific knowledge into the practical output of technological
systems—all this is now in ascendance in the non-good producing industries.
Something of what can be achieved has already been described. More is
surely on the way.

Management is a crucial element of society. If society is indeed going to
be “post industrial”, the recent emergence of the managerial arts in the
service sectors of society suggests that these sectors will enjoy the same
improved productivity in the years ahead that the industrial sectors did
in years past. The predicted apocalypse of structural imbalances that will
halt progress is a misperception of the future. It neglects or fails to account
for precisely what in the end makes economic progress possible—the practice
of management.

ey WRBaARsIHL ®d wRadql 2ud dlowa Cud il e
aleloflszeidl ddd [@del uiMdl @84 wadl dad g % md.
giaviol, Mol 2 AuRA 2sldio sdl dleidllsra 595 4g . At
asl’? s5d Ol dsulist wd 2sllmudl o Adl, udd 4y ol
woig sl wel 9. e yrucd Al wA sl M- dos gl [Qadl
Adl sliviial WA Aste’’ e ud WHBLE QARST AL Adel3 W W
2 A otal s3dl wm Bl uelusie sl uy lRaduEl dial MHEHL SR
AN B, % Ful adiqdl wid sloel w2 @, Ghal -ssl 53 8, d Mel
WaA uwdie 53 B, Aauasdl dou 53 8 A disid wasun Yy ws 9.
Al alBdaiud 53 8, A Bl yad 53 8 dal Al selld e
A Fadd 53 8 A dA eedl WU 9.
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CYASIAHL oleA, ddd Golled 5l Gelldlini 25+l 2 Ryadidl asy
ol i il d dsis sudA, 2sicionse uenelli-l del3 Geuleui
MRl Al 5dld s 53 8- 2 of ofld-axde (non-good) Geuled
52l Gelloial afll 2@ 8. ¥ wd 53 WS B AMi-L AYs ey sl
18 sy 8 A FPAUE e ay wudl @ 8.

Mot Bl UMY s BOIUG ded B, A W WAIUR oy el
gl dld i, WA Al Seldl ol sl dddaidl wdedl 2Rl
YA B 3 opdsiani 2lelBls Solal Geulesdimi ¥ YU vqeedl Adl o
YRL 241 8ol eif@raeil avilHl wgetadl. WOURA vestadl A AHuHgasl
AL eifamausll 3 @@ 28] wid wny &, 2bls wWRA ¥ A s
otld 8 d ueiaddl uqRA d 2Rl @ Al Al NelHd eAnl Ag el

15. What is industrialization ?
silelollse Ned g ?

16. What is the role of managers in industrialization ?
vleiollszemi uoiusidl offis ol & 7
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What is it that makes economic progress possible ?
s wauld w sl wsy oA 8 7

Why structural imbalances are likely to be misperception of the future ?
Al M2 WAALMS vl e 9l wuloy a2l & 7

Explain amused technology and structural imbalances.
aHoel ¢ duRd 2s-idio, AAAIMS HAHGALL.
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